N E X C O &R B IR HkHE /K2 &y

£ K

=77 LEKH
Dc-a+*b-*c

LEFFEKM
Dc—-a*"b-c

FHEMETEKM
Dc(D-a-b-c

et R ZE 1 =Kk
Dc(Sp)-a b +c

F g

FEam 1:1.5
F-¢0.40 (1:1.5)

EaB 1:1.8
F-¢$0.40 (1:1.8)

Y] L ERER TS SR K #t

Dc-5-0.80-0.80-H

o R 53 Bt T SR K A

Dc-M-0.80-0.80-H




el 4, -
=
NE X COERERIIHEk kit
| Dc-a " b * ¢
[ DG-a b+ c| | Dc(D)-a - b - ¢
| Dc(Sp)-a*b:*d
i e i a i e i e a e i e i a i [§] i e da e
o o — 2
o] © o) o] o0
o = o] =
£y 3 % = S 3 % =
EOR <t ) SEEH EOR =t J SEEE
a b c d e |(kg) a b c d e g |(kg)
0.5-0.5-0.5 500 | 100 | 150 | 622 | ||0.5-0.5-0.5 500 | 100 | 150 | 700 | 686
nm .06 500 | 500 | 600 | 100 | 150 | 715 nm .06 500 | 500| 600 | 100 | 150 | 800 | 779
noo.0.7 700 | 100 | 150 | 809 noo.0.1 700 | 100 | 150 | 900 | 873
0.6-0.6-0.6 600 | 100 | 150 | 842 | ||0.6-0.6-0.6 600 | 100 | 150 | 800 | 915
n .08 600 | 600 | 800 | 150 | 150 | 1,156 n .08 600 | 600| 800 | 150 | 150 | 1050 | 1,229
noo10 1000 | 150 | 200 | 1,836 noo-1.0 1000 | 150 | 200 | 1250 | 1,955
0.7-0.7-0.7 700 | 100 | 150 | 1,097 | ||0.7-0.7-0.7 700 | 100 | 150 | 900 | 1,180
m .09 700 | 700 | 900 | 150 | 200 | 1,991 m.0.9| 700 | 700| 900 | 150 | 200 | 1150 | 2, 124
noo1 1100 | 150 | 200 | 2,336 PR 1100 | 150 | 200 | 1350 | 2,469
0.8-0.8-0.8 800 | 150 | 200 | 2,054 | ||0.8-0.8-0.8 800 | 150 | 200 | 1050 | 2, 201
m-1.0| 800 | 800 | 1000 | 150 | 200 | 2,438 n .10 800 | 800|1000 | 150 | 200 | 1250 | 2,585
) 1200 | 150 | 200 | 2,842 nooa12 1200 | 150 | 200 | 1450 | 2,989
0.9-0.9-0.9 900 | 150 | 200 | 2,549 | |[0.9-0.9-0.9 900 | 150 | 200 | 1150 | 2,710
m .11 900 | 900 | 1100 | 150 | 200 | 2,932 m.1.1| 900 | 900 | 1100 | 150 | 200 | 1350 | 3,093
nooa13 1300 | 150 | 200 | 3,354 nooa13 1300 | 150 | 200 | 1550 | 3,505
DcZ . Dc(D)E
<t % | BLfh s stk | BRfh s
oAl g 2Rl 8
f L1 L2] G1] G2 |1m) L G162 |a#)
0.5-0.5-0.5 0.5-0.5-0.5
0 D10 (D10 PR D10 (D10
f 7 89| 800 490 1552, 2 165 ) P | e AT
£/2 . /2| [06-0.6-0.6 D10|D10 L/2  L/2 | |%6:0.6:0.6 D10|D10
| /> ° 108 | 900 590 155721205 208 ‘ " 700 |23 000 114
0.6-0.6-1.0 D10(D10 0.7:0.7:8.7 D10 |D10
B 1000 590 20523002 | 257 _ w09 800 | 208000 150
0.8-0.8-0.8
0. D10|D10 v 10 D10 (D10
0.7-0.7-0.7 1000 690 15523 200/ 262 w1yl e00 | 2205 190
= - 0.9:0.9-0.9
0.7-0.7-0.9 D10(D10 PR o D10 (D10
L2719 1100 690 2050010 2 313 w13 1000 |20 234
2 0.8-0.8:0.8 o
— " 1.0 D10|D10 ke
S n 1191200 790 20552102 37§ s
S 1 0.9:0.6:0.9 D10|D10 o
N < b " 1
2 L1 2 » 11} 1300 890 205 270000 435




NEXCOBERERITHK [

F—¢0.40 (1:1.5) F—¢0.40 (1:1.8)

95 95
ZE// E— £5/7 —_—

i SR v m——

%7 - ]| #W/

N \, == IS} \ -
\  §

150 950 200 150 1100 .200

200, 270 |

200, 320 6
///j:jggl
e
300 %3 <
I QQX >
3
1180
1380
%
87 o
o X
1
1123
1323

200

55 149k g E5: 1197k g

i 1000 |

\ =

FE: 140K g

IO
L 500 |
| |
650
B




— ~
\,‘\‘ ‘// A \

v// L’,J,_\\,,\l

JIMIARU

N E X C Oft#k

BRI SROKME - Hh RS Bl SR K

SE e # B
S =
‘ . N
[ 38 Tl g8
‘ o = N o X
N L9 S
[y =
900 1100 1000 1200
b0 600 15 L5 800 Lo 200, 600 _ 200 200, 800 200
Jv—F 7
T T ] 2 '
= o:\ = 1
i e |, A L
\Mxvré/og oo R
rEEHE S W=
) OQ‘ 800 ‘20
K5 vJ] EE 120
HiE | &% (kg) JL—F 7
480 | 1K 588 _ri;h‘—-yj EE
H~t3: A% (ke)
600 | 2 734
% 600 | 2& | 1,094
T #
o bl 8
2Lk, L RTYT] E=E
- HTE | & (kg)
§ § 700 | 1& |1,862
300 800 | 24& |[2,054
I —r 900 | 24K | 2,246
| O s 1000 | 2K | 2,438
\; 1900 1100 | 2K | 2,630
2k o 300 .20 1200 3K | 2,822
) | 1300 | 3% 3,014
E 1400 | 3& | 3,206
S 1500 | 4K | 3,398
> 1600 | 4K | 3,590
g = 1700 | 4K 3,782
i 1800 | 5& | 3,974
AT 7
W=300 * THtdH=1300LL (%
s AENRYZFET,




